Meldd ang : 22.08.2010

NABARD ASSISTANT MANAGER EXAM

| GENERAL AWAREMESS |

L. Which af the fallowing s rated
the poorest region of the World 2
(1} The Middle East
5F] Hsdtm
[ Sub-Saharan Al
41 Tati Aakerica
(31 Nong of these

Z. Wiich of the follosdng tenms is
MOT used W the world of coo-
nomics Ninance?
(1} Sdoking Fumnd
2} Thircd Worlkd
{30 Open Door Policy
4] Dealiiation
15 Privilege Motion -

a. Ot ol the ival popuintion: of the
deoeld abowt 50% of it lives In

[ 1] Devedopeed COLirniries
(2] BRIC coundrics
(4] Latin America
(4) Dreveloping countries . =
(%) Mooe of these
4. Rashtriva Swasthyn Eil'nn‘l':lj,u
ni [RSBY) hlﬂhmmhunt:ht‘:d
by ihe Minisiny of - ;i
(1) Fimanes
2l Pural Developiment
ot Comameso
(4} Industry | {5} -Labour
. Whai s the fullform of the ab-
brevisiion ASEAN T
- (1) Association of South East
HAggres Mmtbons
12 Aseocintlon of ' South Fast
| Asian Nations.
| 1 Aliarnes of Sauth Enst Astan
‘i MNations '
{41 Allianee of South East Asian
Nelighbours
I5) None of these
8. Which of the following 1s the
scheme for providing electricity
canmections Lo all the roral
hicwrsehold in the country 2

i} ASHA [Z} Swadhar I
3] Kuthr Jeoil, F) Deep Mala
i3] Mone of these

o My tipnes we read about "PPF

]
| in ecanamie lileralure. Whal PPP
57 I i a comcept which -

| A —

1] iels us that ecchange raies
between currencies are in
equilibrium erhen thedr pur-
chasing power s the same In
both the countries. »

{2) Lells us that exchange rates
between currencics arc in
equilibrium when thelr pur-
chasing power is different in
hoth Lhe Conantiies

(3] ;ITP 'm:la.;: tha-rl_ current Ex-

. change Rate of a currency

against US S
M pressure of Inoome inecsal-

15 None of these
8. As we all know the Human De-
velopment Tndex [FTD] is an in-
dex af social pecformance In &
singdle companile mdex, 1118 an
indication of -
[ 1} dispariiy reduction mile, hu-
‘man resource development
rate g e commposite indes
,Ejhnggdly edocation and liv-
: ing standand.
(3] the Techitics for mlnlmum
- aclonling adult literaey and
educational attainment
(] GDP el 8 nation and the sta-
tus of its Balance of Trade
(5 Nane of ithese

8. Which ane of the following coun- |
irfes is nok considered a Kewly |

(1) South Afrdca
{2} Medico
4] Turkey riE
10. Which of the fallowing
sl aterent) s are correct shout
Watlonal Ruatal Employment
Guarantes Aet INREGA) 7
NREGA b= applicable o all
\ﬂmnl areas of the country.
| A [BrOnly bonatriction werk shall
be ghven o the workers em-
plived under this Aci.
IC) Every worke? Is-given an
amount of Rs, 250 pér day
for & eight holirs shifit,

(1) Onkva (2 Caly B
i) OnlyC  JdFOniyA&B
S AIABEC. -~

1L Which of the Tollowing ks HOT
troe about farmers in Least De-
velaped Countries (LICs) 7

Lrchyss brislisar] Ceonmiry EI"ITFL‘_\.

{3) Ereedl

{1 The slaple crop is the chief
source of food
12 Lalwair & underutilised ex-
cegrl o pfanting and hanmesi-
Ing BCASONS
3 Om il iesditionad farm, owi-
pul = plhways greater than
oonoumpdian
(W -Cilltvators utilise only a smeall
portian of Fand
(5] None of these |
12. Which of the following oTganiss
tionsfagencies controbs the moa-
ctary policy of sur counury *
i1} SEBI
i Fhanming Cormrmissian
@R
4] Union Minisiry of Finanee
W Mone of these
13. Amartya Kumar Sen emphiste-
s that having enough to eal de
pends an onc very crucial (ac
ter. Which of the following |s thal

factor 7

[1]-Becicty's system of entitle
L

(2} Distribution of agriculiural

(3} Low poverty rates

(4} Stracture of the family

(5 Mone of these

14, The Nutional Food For Woirk 1
scherme s pow submerged with
wiich ol the following?

{1} Pradhan Manir Griam Sadak
Yiorjiruh

2} Mahstma Gandhi National
Rural Employviment Guranise
o

2] Bharat Minman

4 Tockiva Ascis. Yok

15} Mone of these

I8, BMary i dme we resd about Fer-
pility Fate i eoonomic Hieramnire,

What Is Fertillty Rate 7

(1] The total number af childoen
lscirn in o couniny in & glven |
year divided by number of
children died.

12 The mwenbier of chdldén Lo
fes A n average wornan during
fver reprodictive years .

I3 The nuwmber of births in
caundny divided by total pop-
ulation in o gven year
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13,

L7.

ia.

148,

21.

156 b RMSRARIEEIRMGL WA Iﬂlﬁ]ﬂl.l’ﬂ
age grouap of 15-» vears in
& country divided by total
numhurud'ﬁmmdlaidur
1mg ehilel bieihy.

wil None of these.

How ia dual ecomomy distin-

puished from other econamles 7

It is a mixtore of -

i1} Indusivial sector aad mann-
facturing sector

12) traditdonal agriculiural sector
arnl a modern industrial sec-
o

[ =taie owrrerehip of the means
of production in cooperation
ol fareign organisations

(4} Industrial sector and trading
af goods obtained through
imports

(51 ruone of these

Walershed Developmenl

Schemes are a part of =

(2} Bevelopment of Rural Eeon-
camy

[B} Developrment of Skilled Work-

| 1R
I Development of Irrigation f5-
cilltdes in India -
(1} Bak A 2] Only B
(3] Cnly A & C 4] Only C
5 AlA B&C
The second summit of which of
the following ofganiaations took
place In Brazl recently ¢
(fG-8 * 2 G20
13 SAARC 14 ASEAN
i5) BRIC.. .
During the moent Depression
workeTs in Developed countries
prelerned to tales iSferlor jobs
insiepd of Iy off. This slteation
{5 knowm &S !
(1] Seasomal unemploymeant
{3 Cyelical unemployment
(5 Disgeised unemployment
(4) Volunbary unemploymEnt
e of Lhese
Which af the following terms is
NOT associated with the game
of Foptball?
(1) Gormer kiclk
(2 Wideout (3 Hoemen
(e} Foblowon (50 Full hack<”
O which one of the following
issaes, thers badl been & dispite
between [RDA and SEBI 2
{1} ULIP producets. -
24 Viglation of SEBI puldelines
in respect af investment by
b cormpanies in equitiea

§ W_IMUIW’W
about disclosures to be made |
by the Companies

(4] Overlapping af the functions
of [RIDA and SEBI

(5] Mone of these

Z1. As per ibhe reporis published o
various newspapers Maharash-
tea and Gukaeat have signed an
agreement on Hnking of major
rivers of the stabe. Which of the
following is a camman river be-
iween both the siaies?

Fammada (2] Ganga

I lishna  (4) Betwa
151 Wone of these

23. We have noticed al on several
oocasions that cost of petrelevm
The actlon of OPEC members at
times to lHmit outpas and (e pric-

&5 may be understood as an ac- |

ilon arising out of -
11 nstructions from WO
clisatiom in oulpat
13 practices ol the allindusdiry
fa) p dynamics
cartel
24, Which of the follow|ng countrics
won the FIEA Weorld Cup 2010 7
(1) Germany (2§ Nethedands
(3) South Africa H
[ - 151 Braril
amongst the following s
NOT & Badminton Player?
(1} Aparna Popal
(2} Saina Nebwal
B V.VS. Laxman
{4} P. Gopichand
{5) Chetan Anand.
26, What (4 Bilateral aid ?
(1) It is technical aid given by
1.M.F. to various countries
i 15 ghven directly by one
country to another
(21 1t s aid with the condition

25.

that the repaymvent will be in |

Inconvertible curmency
(4} 1t s s commercial loan marde
mﬁﬂnbhbg-vmu#mm-
tiona jolntly
(5} None of these. '
7. Who amongst the following is the
author of the book ‘A Himalayan
Love Story'?
amttha Gokhnke
{2) V. 8. Naipaul
13 & nita Desal
14 Laxmyd Sehgal
15 Mome-of these
28. Which of the following is the
pame of the organisatinn creat-

AT SRTRHAGIY W UEYEIVE Bl
scale Industrial sector in our

oountry?
(1} HABARD (2] SEEI .
[-;I-SJDBI (4] AMR

(5 Mome af these
2B, Wiho s Mandan Nileloand 7
(1) Chatman. Unigue idemtiicn
Lo tion Authority of [relis
12 Chalrmarn, Mdrpart At horiby
of Inclia
(3 Member, LHGE |
(4] Member Planning Comamis-
e I
(5) Mone of these I
30. Which of the following countrics |
will Ivost the next SAARE Suny
mdi?
(1) India 2] Bhutan '
(3h Mepal 4l Fut |
{5rtone af these
31. Which of the falldwing organisa- |
tions /agencies is specilloally se
up Lo booat averall rural devel-
opment in India®
1] RBI 28 SIDEl
J3FNABARD (4] SEBI
51 MNone of these
3. Commmnnwesl{ Gamses 2010 nre
to e erganised in Delhi in the
mronih af :
{%Brmh-f
.Fﬂ.lﬂﬁ:t
{5) September
83. Which of the fallowing cups is
associated with the game ol
Hockey?
Agha Khan Cup
DCM Trophy
(3} Drawvis Cup |
(4} Derby Trophy
(5) Rovers Cup
34. Which of the [ollowing is a horii-
enltural crop?
{18 Lirad
Aptbaja
[ AngD
ng to Flanning Commis-
sion, the degraded soll of which
ame of the following States, pos-
ed-a g theeat to food eecurity
and can cause serkoLs #conom-
i implications (o the nation™
(1] Haryana
fikUttar Pradesh
151 Madhya Pradesh
(41 Karmataka % Punmob
Which al the lollowing arganiss
tions maintains the Ruaral Infs-
sirueture Development Fund
(F1DF] #

(2) Mowemler
[4) December

) Jowar
iH Whest




3 SIEL 3 L
* M) None of thicse
7. Whith of the following =/ ar
truae aboit the Competiinh Com-
rlselon of India (OO
(A CE e rogilatory body hiae-
I oy - flad et al sl Lore.
(il esiablished o renlnee
eld Monopoiles and Restric |
irve Tracke Praglited AL
[ Its madne objective is to cre-
b v heealting envivenment o
::m]xlrnj.nwudﬂ, iR
Wi} Gy A - d2) OnbeE | ;

‘ « (I} RAL - HABARD
|
|
|

frse Non» of These: i ’
36 According to REL which one of

Ui Fall eving s the Eiggesl con-

cerr of L pourlnd

(1) Debl crisis in Earaps

(58-Il atioin

. GOP grorith

[4) Fiacsl defieit

(5] Naone of thise,
8. Which of the folliwing

thona has. pecently !ll.unl:’fnl il
| *Farmers” Information Service i

SpST 0 help fmrmess o Oujarat
sl

__M-m Siun's ol Trdin
i K ! $

191 Relianes Growp A Industes |
: BARD ;
15 Mome of theae
4l On'which ooe of the Rlkowing
cogntries, the Uatted Nalbons
Serriy Juumll'l_r?lﬂi"“ e fm |
masd ponetions? i
it Hoees |

[ E LT L

{1 Ela

! 12 Suds
' S bR

: l #1. Muhanmad Yunas of ﬁh.l’cﬂ

lasdealy who wiss dvirded Pkl

prte B e ym h‘l::k % & fe

B3 Only ¢ an&c

i3 Anjall Bhagwat
iy O, PoMehra vi
15 Morte of these . B3I

dd. The G20 Surmmdt was crganised
Im Jume 30 10 in whick uf'tl:ll:
following eftles? '

AL Londsa © (@) Parls ¢

13 Tolya | N * s T L)

16 None of thiese

The Sovornment of India has es

lablished a dlralegc reserve of

mhemint B il tonanes of which
‘of'thie Eﬁﬂmmgcﬂnmudﬂi:u‘?
1) Steel 1Y Sug

I“ll

mﬂie B R T
JP-Children attending ua:h:ln’l
(2] Those whoar: geiting Nation
al Old Age Pension
@ Wiirkers of Mational Huth
Employméat Ast -
L‘-H* ‘RE&ident doatare of Govamn.-
:qm’![ﬂﬂlgrgj{aalsfﬁ rural ar-
u T
!E{--rﬂhnr. af frehr
47, Which ol the folldwing s NOT'a.
CashiCrop? '
(1) Tebaceo
e m ‘!;ﬂ.-‘ﬁajm

48, mhfmew-mmm

Uelerted ) perbed nf o
e : by
(174 voars " C2) B

gl
J36 years, | 14) B years

5 None of thest

449, The 122 Cricked Woiild.Cup Fl-
mal 2000 will fpe playred inwhich
el the foliowing cities in Inl:ii-ﬂ. T

ﬁ:ﬁa‘“"

_ ENGLISH LANGUAGE _ |
Directions [51 - 65) : Read the

| [ollowing passage carefully and an-

| an orgaric

swer the questions given below it
Crertain words/ pheases have been
peiniterd i hold to help pou Iocale them
whtie answering some of the queston.

Crganic farming Is either really
expensive or really cheap, depending
oft whers vou lve and whether or nol
yons are-certified, Not oaly ase the “niat-
nrpl” arud fertilirers Incress-
ingly marketed by agribusiness as
| cosily as or costlier than their chemi-
cal & parts, but proving you are

nic farmer requires rectifica-

tion, which i time-consuming and
expensive. [n the USA ponverting Lo
arganic agriculture is a huge under-
taking. for commercial farmers, who
hieve redied on chemileal fertllizers and
pesticides for many decades, bul in
JAndia, the converaion s no less ardu-
ﬁHn and [ar more ironic.

India’s farmiers are still mostly

| pracusing organic methods, passed

désrn for millennia; Organic fertilizer
and nattral pest contrsl are the only
toals avallable to most of these farm-
ere, whea have abwsiges lacked the -
searseial resources io explore chemical
salutions, But these farmers, whase
produce is As oTganic as they come,
eannol dlford to pay ihe fees required
w0 gain official certification,

Asthe international cormmmunity
adopts standards for organic agricul-
ture, the challenges faced by formers
im the LASA wersas farmers in india in
arder (o ddapl ate very different in-
desd. The danger 1s  that the well-
Antentioned glohalmowe towards or-
ganic standards Wil make small or-
ganic farmers ycountries liks India,
whit have nevér done anylhing il

CEICi i m-utljl.;. nahmge: alsle tosell
[Ryrivetbigr o ke Bl i | ﬂfzumas

v Rronemlel” 1 8 2 : SR masgmm.wﬂm 526 hillion

| () Gon@l worker ; 'glohal market for organdc (oods, the

| (4] Bcheritis Tndtian CEflral Governmient =el up o

I (B e o thede _ 3 | ﬂﬂtiﬂﬂﬂé]h;ﬂmh:..gtﬁig‘ﬂ?hnm Fai‘l[nhtrgq

4 Tacred Camoe’ 2 e onewvel wll- e ; o | b Detober 4 purpose of this

! e oy 1 F'n-rtia l.va]thI:Htr of lJl | institute is 1o Grimulate rules, reguia-

| s Cheesal | Hﬁﬁﬂnﬂﬂmﬂ of tons and cerfieaton af organic farm

i T : sodiects in conformity with Interme-

| n Liseposani KiRAN Fhmsmm BYT T, | mtrnbionit, THK siptcate has fn

|14} st Singh in KOLKATA S e Mty e e
By Mo of thesa T, Lo : PR _.“g': o

48 Wi sl the foliowing s a | ' o ¥ ﬁm:ﬂm meﬂr e dorgestic

SRy, e N 8 .wﬂmwmm markel. The certifving agencies ure

| e e e e

! o A8 e HE ! Bhone : 0874018281 gante” logn is in accordance with in-

r'-;'m; ..ﬂ”.;::...‘-:i'-L_ SN o .r__: 3 s e S . L DRRSR T TS




| VEFTEATINAI CTICTYE, €03 [@UnC maor|
anareness and marmuﬁrwu
in lndia and abroad.

Organic farmdng has been iden-
tfied as a major thrust ared al the
Ltk plan of the eeniral povernmeni.
e bBillien rupess hevve been allocat-
ed 1o the aforementioned National In-
siituie of Organie Farming alone for
the 10th five-year plan, Despite this,
most af Indid's organie farms aré nat
officially considersd organic. Most of
Fredlin's G e "ooganic by defalt.”
The iroew and difficuliy of the mew
governmental push for organic sgri-
culbare s 1hal 65% of the SOUNLNS
cropped area 1s "organic by default,”
according to @ study. By this some-
what degrading term Uhey mean that
small farmers, Jocated mostly in the
Eastern and North-Eastemn regions of
the couniry, have no choice excepl 1o
[apm without chemical fertilizers or
pesticides, Though this is true in many
cases, it is alss true that a significant

number of them have chosen to farm
organically, as their lorefalhers have
copre for ihowsands of years. Many
have seen for themselves the effects
of chemical Erming — soil erasion and
Ioss of soll nutrienis, loss of mutdtion,
in food, and human diseasea result-

ing frem the chemilcals that inevitakly |

geep into the water fable, all the ren.
sons for the urgent demand for or-
ganic foads and farming.

India currently his anly 1,428
certified organie farms. This statisii-
cal diserepancy reveals that the weak
link in ihve arganie,/economic chain ls
certifipation, Under current govern-
ment polky, it Lakes four years for a
firm to be ceriified as organle. The
ot al preparing the report is a flat |

fre of Rs. 5000 and the cerlilleate: |
itsell costs another Rs, 5,000, While
these costs are bearable for the new
industrial organie greenhouses, they
| are equal 16 or more than an entire
years income. or the average small
frmer, df the vosts of travel and in-
spection are ncloded.

inthe United States anarganic
farm plan o ‘organie hamdling plan
must be submitted to a USEA -
aceredited private or stale certifica-
Lioe program. The plar miast explain
all evreern ! prowdng and handling meih-
cds, and any materials that will be
used = in the present. and any futire
plans musi be incloded as well,
Recards (or the last five years st
be pregenied. Land must be chemi-

| s, small farmers
| with recycled organic witstes are usu-
| ally inellgible [or insurance, much less

| cal-free for thres years prior to har-

VEEL, BOTENCONMVTTI T OTER F 1T TRnnGT | -
receive Lthe organic label for the tran- |

sitional vears. This will generally
mean & decrease in Income - crops
ey b less plentifal than with can-
veniional fertillzers and pesticldes,
and yet {he higher price for organic
products won't vel be posaible. Many
farmers cannot afford the transition,
even i they want to,

Ome salution (o the small farm-
er's dilemyma of how to both cermiiy
and survive ks that of community cer-
tificatéon. In community certiffcation,
communites, on a non-profit basis.
tnke charge of the certification pro-
cess Lhemselves. They evaluate the
farmer's commitment to the steward-
ship of the scll, and examine from
many angles whether the (oad is be-
INg grovm in an environmentally sen-
sllive vy of ook, r&lhtﬂhﬁn technil-
eal standards, While commrunity cer-
tiflcation meay be aviable solution on
ihe local level. (i Is our opinlen thal.
in the global marketplace, kess than
exact technical standards will never
be enough for today's consumer- and,
it todays larpely polsoned environ-
ment, it shouldn't be; elther. Further-
more, uch “soft” guldelines can cis-
ily backflre on the farmers them-
gelves, as a system not based on facts
must be by definition subject o lecal
politics, bribery, favouritism, ete.

"India must find a way o keep
the strict international organic stan-
dinrds inipet if it wanis io compeie in
the international market for organic
foods- bui is there a way to do i erth-
out- leaving small farmers out in the
eold 7 One obvious solutlen is for the
gorernment 1o subsldize these certifi-
cation fees enowugh o males it & via-
ble option for ordinary farmers, not
st foe neo-arganic factory farms and
gresnhopses. Banks also could pro-
wide a more level playing field for smali
[ﬁrmmLLmrL&_f.ﬂirm]ﬂlhmﬁhm‘m
are for pure crop farmers. While
marny of these blg-business fnrmers
wae harmbiul chemicals and process-
fertilizing thelr soil

gtaie solxsidies,.
B1. What role does the National In-

atitute ol Orgaric Farming have |

o play in the crganic farming

area?

{1} To set standards for the im-
port of materal required for
organk: fErming within India

f

TSRS LTS CTIHIEAR FErTm

products conform to the in-
ternational standard for ar-
ganiic foods,

(# Tosugaest methods 1o farm
grs for producing the bes|
arganic products,

[} To impori the best organic
foods from international
einanibries ankd harqest them
in lnelis.

5 To sef up agencies intermna
tiorally fog tie marketing of |
Indlan arganic prod uce |

. Which of the ollowing |5 possl-

bl this maet appropriate tile for

the passage 7

(1] Agribusiness in ndia

(2] Organic Farming in Thdia - I
An lrony :

13 Inorganic Farming - A Health
Hamard

(4] Small and Marginal Farmems
(5] Organic Famming n [ndis awd

the US |
Why. according to the author, s
ihe term "organie by delaull”
dr_-gr:p,ﬂng_'?

(1) As Indlan farmers are adept-
ing incorrect methods of or-
ganic farming, theereby ren-
dering the crop useless

(2] As the crop cultivated out of
organlc farming Is rejected
by miost international agen-
ek,

13} Asall the Grmers in India do |
mol hawe any sceess o chem-
fcal fertilizers and pesticides
b0 carry cut Inorganic farm
ing

(4] As the Government has s
sued a directive to farmers
In Tredia to Ccarry oul ofguaks |
Farmliag adone

iB) As it roerns Lhat the fanmers
in Indin cenpot alford to use |
anything but arganic meth-
ods of Tarming

Which of the following are rea-

sona lor the increasing demand

for erparic loads and organidc

farming 7

Al Consumption of Inorganic
food has given rise Lo humsan
digenses

(B Excesubve vse of pesticides
Feas caused Boil erosion

IC) Thers hins been a loss sl
s frient value of soil due to

chermical farming
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B,

(2) Omnly (Al and {B]

(3] Omily ICF

() Sy (B and (C)

(5] ALl (A), 1B) and (C) are Lrue
Why aocording to ihe-auihor, will
the felea ol communily certificn-
o Aot work 7

[} As there may not he ennugh

people in the community to

I warkon a non-profic basis

(2} As the farmers may not be

o fethooming bnprosiding in-
formation about thelr culitea-
Lhain Praclices s This bead
tow the failure of this system

(3 As the cemification granted
throwgh this scheme will nod
ke authentic at all

14} As certification sought inthis
maAnner may give rise (o vest-
ed Interests and also niot
mesd the siringent-criterta
laked o @lobally

(5) Mone of thess

Which of the following is TRUE

in ihe context of the passage ?

A Tl Irncdian Geonermanenl s nat.
In {avour of acquiring certli-
cation Lo meet E.lﬂlll stan-
dards

B3 The process ol urﬂlﬁ:ﬂﬁnﬁ
i quite time-consuming and
e,

] The farmer do=s pod esarm
mrisch during the thres -Ffoar
yerss Liat it takes 0o @etl cor-
iifleation

(i} ©nly (Al and (C)

() Omily [B)

13} Only (B} and (C)

14) Onlby (A}and (B)

(5] AlL (A}, (Biand(C)

What sceording to the awihoe, s

a major probiem with - Organic

Farming in India?

(1] Despite thetr Arganic naiure
most farms in india are not

perceived as argiaic berause |

ol mere paperwork o
ﬂ]ﬂm&umnmrhﬂmtpnﬂ

atiention Lo orfEnic fErming

in Indis therehy promoting |

inorganic farming to & great
e Lenid

(3 Only recycled organic waste
I available to Indian farners
lor Ehe purpose of organic
farming

Ml indian farmers ar Accus-
tomeed io the usage-of clhem-
icalsand their farms have
niraslarted losing thielr fer-
ity

Il re averse torthesddea)
of organie frmding as it is not
profiiable

S8, Which of the following, accard-
to the author arg factors that.

can hielp in acquiring organic
farmil?g certification in dndia 7

Froﬂmngmnqeﬁanhanam

IHIR:d.ul:lng “the quantum of
Ioans belng proviced 6 pure
crop farmers

{0} Levrering ibve cost of certifl-

(1] Only 1)

(2} Oniy (C)

131 Only (A} and (C]

141 Onlv [8) and (T]

15 All {7, (B and {C] i

Directions (80 - 62) 1 Choose

the 'word/ group uf wm;!:la which Is
g:‘r:-hp-:d'wmdupnnmdmhulﬂmum:l

.= 13 keeptoached

In the passage.
88, ARDUOUS
{1} pleasurable
{!Fﬂlﬂ‘trmt Lﬂid’:ﬂ"mﬂt
HEY (2] contemptale
(3) epply {4) frame
(5] fnisx
81. DEGRADING
{1} corrupting  (2) mindmizing
Priowering (4] demcaning
15) warrying !
82. TRANSITIONAL
(1) Extreme (2} ntermedtate
lﬂlfdruufnmw
Hl'baa-r (5} changed

(63 - 68] : Choosc I
the wm'd,fgmup of words which is |
mnt oppasite in meaning 1o ihe |
| -hfu.bmﬂ!._pﬂ.nud in bold |

(1) avoddably (2] mostly

(3] ceriainly (4] expectedly
[5) predictably

68, mﬂ -
(L) division 12} quarrel
[3) tune. i4) enmity

ol the :‘u:ffldwing quﬂ’timm o words

(5 confliet |

the phrases (1], (2), [8kand 14) giéen
helow each sentence shouldroplace |
the wordyphrase prinied in bold in
the sendence Lo make b gramimatically
currect 7 1f the sentence s correct As
it is ghll::n and o l:urrl:l:'tjm = e
quired, mark (5] as the answer.
BB. Since lﬁ)adh:lﬂmmntmhe
J:Iial.urb:d while studying. she
bt the phm&nﬁkuﬂyﬁgq
(1) off the hook
(2} ol hooking
() [ the hook
(4} of hook
(5) No correction required
. Sines Shilpa was overburdened
wiih wark Deepa i:l-eﬁdu-:l i
gaws hier hand, '
o1y giving hieds
{2} givé her o hand
131 -ebving her' handiul
41 gave her hands
{51 Mo correotion e red
Despite having passe d owt from
eciroo] oeer ten veaD - Dacl, most
Hﬂ‘nﬂnmhmhhh:pmwh
:ql;f:lulh.:r
(1} are kept Woucn od

[2] 18 heeping touch

1oAY et kept i tenach

{5) Mo correcthori reguilred
Seeln has well awareness of
Tactthnt horactionsWoukd have
terrible TepeTouEsions,

(1] e weeld g wl

[2) has aware for .
(3} 1s aveare to

(4] #s n awareness with

(%) No-rarrectinn required
Shashi tried] a8 hard he would
io win the race bul falled (o do
B

(1) s bemwed 5 mey boe ol

12] a5 hard a8 Tee could

{3 hardly soas’

{4 =6 hard that could

"{ﬁlﬂnénn‘nctmﬂmqmmd
{71: 78 ¢ [ each

ave given of which twn words are noos:
nearly the same or opposkte [0 mean-
ing. Find the two words which are most
nné.ﬂylhl- sme OF oppoaild 0 mean- |
ing, The numbér of (he correct l=iter |
combination 15 WOLLF BIESWET. |

71 (A Disciple " {B] Student
(€] Academy 1D} Martyr
ilfa-cC HC-D
(38 -C B -D

ifhA-B




(€1 Valued iTH Forlom
(I C—D EAa-8
B 1) B —E'.-
(HaA-D & 7

73. W Ondinary l'ﬁi‘-’ngm:
(C) Custom . (D] Exeepiional
A-B B B-C
BCc-p M A-D
FB-D

T4, A Damage:d
{8 Hurried
1) Comice il
1D} Measwred
ma-B el 85T
M B-D 4).B~C
(5 A-D :

78. Al Remots (Bl Trowbled
iC) Secluded  [D}Apparent
(IHB-C (@a-D
i3 B-D M C-D
il A-C
DHrections (76— 80) : Rearrange

thee foliwing sii sentenens (A, (B). (C),
(0. [E} and [F] in the proper sequence
b form a meantngiul purgraph; then
answer ihe guesiions glven below
iy T
(A A legnl [ramework i thus,
new avallaple for promioting
Energy afiicfency tn all see-
Lars of e econmmy.
(Bl The meresising preference for
eomnsrrial energy has led to
A sharp inerease in the de-

rmand [t electrieity and los-

uil fueda

IC} There ittatill a considerable
potentis] for repairing such
damage and reducing ensr -
gy consumpiiom by adopuing
encry efficiency measures
at wvariols sectors of our
COLMATY.

(D0 Thils frarmesroeis |s mothing bt
2001, the surcess of which
greatly depends on the peo-
_plewl‘l'n;l;ﬂ:liﬂtht lead in supe

poriing this programme.
(E] This use af {pasil fuels has

resulted in emission of & huge |
guantity of carbon dicxide |
CLE T AETIOUE PITV iDIen- |

tal damage.

(F] These adopted measures will
not only reduoce ihe need o
create new capacity reguir-
ing high investrment, but also
resualt iy sobst sevilad eenvieon-
mental beneflts,

the FIRST sentence afier rear-
rAngerment ¥

LA ey R

| o I_J.ID

BE"

the FOURTH scnicnee after re-
arrangement ?
(1'E

(3 A

(B

Which of the followtng shoubd be
the BECOND senience aficr re-
ATERGEMENt?

(1Y B 11 o

(5] RS0 -.-{‘:!E

- Whilch of ¢he following sheld be
the LAST (SIXTH) sentence af-
Ler rearrangement 7
(1A (218
Ba 4D
5l E
Wh!m;iﬂlq'ﬁ:ﬂmd.ngahnﬂldh:
the. Mﬂnmﬂm— penr-
rungmiuit'?

(i A i= B

13 C 141D

B E

Directions (B - B0} : Readd =uch

2 F
4 D

sentence Lo fnd aut whether thers b8 |
or Idinmatic

mm‘i&mmrim;r will be in
one part:of the sentences, The num-
teraf that part is the ansaer. If there
8 0o ervor, the anaweris ‘&), lgnore
eirors ol puncivation, I;[.Ell‘ijl']

El. Mere than hall of the food prod-
ucts [ 1)/ targetsd ai babies and
toddiéns have (2)/ & high sugar
coplent and are (3} excesalve
awedt [4)) Nocrrer {5,

“The loreiga cofmpany has ao far
dlectlined to[1)/ directly comment
i the Indian COMpany s move,
1217 which analysts say is a sign
the company warnting to {3)/
lght forits presence tn the mar-
et (41} Mo error (B

After forty years of irying to/{1)/
understand winy asbestos caus-
&5 cancer (2)/ rescanchers have
now finally (3)/ unravelled the
mystery. (#1/ No error [5)

A property dealer was [1)/ shoot
dead by four unidentified jack-
et-clad men {2}/ while taking n
racrming walk 131 inva pask (1))
Mo error [5)

: W'Iu:l'mfthﬂn]!mhgﬂhuﬁlﬂbt.

(10 reality-based pop bepd
hunt, & {2/ going an-fe (el
swing, (3] with numergue on-
triescame in. {4]/ No emor [5)
86. To curbing the spreead wal vio-
lenee, (117 authorities beought
vrder carlfew (217 moreaccas i
the Blate, where [3}) thres
youths were kifled. (4)/ Mo o
rof (5
Demmanil for dibsel cars, o hilch
has {1}/ been on the riee Ta- 1
st few wenes, (217 muy dip e
the governuneni bs increasiog he
price 13) of the fuel, bringing it
closer to that of petrol, (4)/ No
error (5
Wat only was the aciross guer
the moan (1]/F a8 winning an
awand: bot was 2} albo despty
tavched Ty the supoart ()0 sk
god from the induostey, {457 My
erros |2l
B8, The protcstors went on @
paghing (1] /- anc &80 abdai: L
shope (2] f resuldng fn injuaric
Lo l_‘h['rt:,r Fli:ﬂp_lq: fany frwolueclizng
women and ehfidren. (4]0 M
=rrar [G)

BT,

90, Heetlc schedules can (1)) ke
A tedl on angbody aad 27
sabulione o ik b (3] 9 il
holiday to soma 2ootie keeation
(4] Mo srpor [B)

Directione (91 < L0  'ni L
fellcraning possage there are blank
each gr-umﬁ;h har heer nurmbeced
These numbere ape printed below th
passage and-agained sath, e v
are suggesied, one of whish lite th
hlank approgeiately. Fiad oa® ke ay
proprigie word b sach oo

luchia; has Besane, (a0 g s
Ing power partly terms. tre (ourih b
et poanomy in the woeld, s e
nomic [(Bl] simece 15E0 Hoo bee
among the (98] rapid. Althoo gh frdi
mianaged it oo incpienl etk in
early 1900y It avoided the caiasiop!
ic losse= [(93). Whilz many 94) 1hs
expasing Indin s economy Lo (Hob
eomspetition eroadd pevral dla's oo
nomic [88). 1t hae rather reveale
strengths and offen uacrpects

in mow areaz ne plasne
would have (86 of. India 1= incres
ingly taking 1ts (87 nn the global sl
andin internations forime e 0 21
cEnlury SupErpawer The geneatio
of politbclans and policy makess o
have been [98) of leeding “nci=
where it ie oday cprs bie Tosd ok by (8
of the transformation. Dot achiy

e e e -



menis create new [LO0]. opo'ef which
are ~improving service delivery, par-
tcularly to the poar, theough freater
aceoa bty ancd expanding the ben-
efits of rapid growth-across seotors,

refions. and peaple,

81. (1] decline (21 policy
(3] erisis (4] dreaty
15 growth

I 82, (1] several {2) very

i3} most i mch
(5] an

83 |1 emd (2} detericration
130 thus {41 topether
i5) &lsewhera

B4, |1} asked {2] feared
(3 thirk {4} =paoke
i3] believe

28, (1) growth 2] space
12] gain |4} weakness
(Slaroicd

B8, (1) quesiiomesd

" [2) dreamed
{3} arransed 4} plan
(5} wamnted

B7. (1) meatler 2] place
(3 ez (4] generation
(5 moark

9B. (1) part (2] Iz5ues
(31 hummans (4] figment
{54 thought (9

o, El]'umrrjed. {2) angry
121 homonared
12 distinguished
&) prowd

100, {1} impossibilites
& evalparions
3] challeriges
[4) comparisons
(50 dangers

Directions 301 - 105) : What
willl come in placeof e guestion maric

il In the following questions ¢

101,40, 7} < [0.343] = (0. 71 + {04912
kL 3 12) & &
A7 (4 4

B Tene ofthese 5
1?[5?‘;‘5+2t +5= a6

Sreas 1 R
| G5 (4] 2.5
(7 Mome of these

| 108 58 x 125 + 0.5+ 165 =7

445

fﬂm (2 110

A 120 (4) 156

(5} Mone of these

QUANTITATIVE APTITUDE |

104, (7 -1 =B J38
11 & 25 4
i3 D 417
|54 Mone of these
108, 32.5 % Z6% af 450 .+ 3 -

T45.5 =17
(1) 642 12 522
{3 632 [4] 612

I5) Bone af these

Directions (106 - L1O) ; What
approximate value will come in place
of the questian marlk {7) in the follov-

ing questions 7 [you are nol expected
to caleulate the exact value)

2 4 1 1
e i h=="7
R

2} 4
i 15

(11 2

312

A8 7
LOT. ".4.93}1 - '3,'99}3 * '-ﬂ'lj"- 2

gﬁm {21 GO0
700 141580
(5) 540,

?. S5.01% of 950 + 18.8568% of 601
- P

(1) 580 270
(3 200 A‘gsm
) 420
.94 - 3001.0) - 999,00 =
- P - 499991
[1] D00 (2} G500
0,000  [4) 10,500
(B 8700
ilyaam +£20.98 x 9.08 - 100.00
= ?
(1) 480 {2) 550
6% 4 250
5 200

Direstions (111 - L15) : What
will com= in place of the question mark
7 in the following number series
‘;}LIB 88 6l 213 - 262 @A)

(1) 264 (2278
(3] 265 ade ) |
(2 Hmedtﬁﬂ'
J2.7 13 24 40 8L M@
3] it I
3 59 4 93
(5] None of these :
1326, 12 39 55 180 @
qie . DoE

{4) 206
Eﬁl Nene of these :
T 18 3o - T
lil 107 = 113
() 105 i
Mone of thisse
TEOD 423 BES 171 1749 O
{1} 118 () LO7T
2 24 (4} 22

ﬁbﬁm&uﬁhﬂu ‘\'@'

| 117. 1.

- Directionad (1168 - 120] @ In the
&ﬂuﬁhg;qusﬂﬂmbﬁumﬂhﬂm
ered | and H are gheen, You have to
salve bioth the equations apd

Give angwer (1] if x>

Glve answer (2] 1f v u

Giwe answer [3) T x =y

Give answer (1) [T x< y

Give answer [5) [f x= |

ar the relationship cannot be
eatalllshed

118. 1. 2. Juzea? - 58

. (W2 x (29 - 262 = 250
2+ Sy =19

I Tx-dys23
118. 1, 2 « 12 = Tx

Ii. ¥* + 30 =11y

118 1. 1B+ Sx+18 =171
. 3 - 640 = 321

1§
i X

120. 1. %% -

I, 5!3‘16";;

: 121. A man sold an ferm for Bs. §.5050
at a loas of 25%, What will be
the seliing price of same item 1
he sells it at a profit of 15% 7
(1] Ba 10,530

2] Fs.9,950 (3 Rs. 10,350
{4) Rs.11,940

{5] None of thesa

The sum of ithe cdrcumierenee
afl 4 cirele and the perimeter of
A rectangle is 133 cm. The area
of the rectangle b= 113 =5. em
and hreadth of the rectangle is
B rcm. What is ithe area of the
gircle ?

(1) 618 sq. cm.

(2} 540 ag. em.

(3) 308 sg. cm.

{4 Cannot be deternyinsd

{5 Mone of these

The cost of 5 kg of apple is eqgua|
to the cost of 12 kgs af riee. The
cosl of 3 kg of flour Is equal o
orve B of fee, The cost of one
kg "ol flour is Rs, 17.50, Whai
i= thotowal cost of 3 ke of appls,
2 kg of ree and 4 kg of flour
together 7 _ |
(1] Rs. B43 (2} Rs. 527

[ R&, 563 W) Ba 553

(5} None of these

| 124. Thirly Ave perceni of 740 is 34
mare than a number. What |s
itwo-ifth of the number 7

123




(3 L0 (4 120
(8 Mome of these

a quadrilateral s 8 31 4 : 5,
Thesamallest angleof a wiangle
Is one-fourth the largest angle of
the guadrilateral. Largest angle
of the triangle is 10° more than
second largest angle of the Lot
gngle. What iz the second larg-
rsi angie of the triangle ?

1) 80 =2 BoF

=3 o

1 4 I;'.Emnni be determined

| 15} None of these

| e eovered 4 distance of
:liilﬂma.ln 19 hours. Also, the
awerage spoed of & car = four-

the car pover in 22 hours 7
1) 1254 kan §2) 1144 kmn
13 1134 ks ) 1244 ko

o i) Hmw.nﬁ“ﬂﬂt
127. The ratio hetween ihe present
“ages of Meera and Priya 15 3 : 4

ratio between thelr ages was 4 ;
7 reapectively. What will be
Meern's age alter 5 vears 7

1) 18 years (3} 24 years

13} 23 years | (4) 28 years

15 Hﬂ-l:ipﬂl;'!hﬂ':
148, The mﬂl’ll:nu[qlne uu—
dents i a 'Is 62, Three of

marks. What are the average
marks of rcmuhnlng HIX slu-
denis ¥

)85 26

3] 4 a2 s

(5] Nooe of hese |

A bag comtains 7 red balls, 4

- green balks and & vellow alls,

| What is the probability that 3

balbs chrawn at random are elilier

“green or wollow F 0
1

T

lﬂ L

1
< 5o
o el

151 Mone nl‘lhca:
130, Six boys ar fmirmumn e Fp b

pII:LE»lpltu:"u{ k 24 days,
| in how many davs will 3 boys

and 10 men er complete
| the same plece ﬁEwm’l'-rF

(& &

3 12 -

) Cannot be determined

i3 None af these

125, The ralio befween the angles ol

the questions that fodlow

Number of Clerks and Offf cers recrulted (in thoasends)] by five different

fifth the average speed of the |
i, How muech distance will |

respecilvely. Ten yours ago the |

them scoped 78, 89 and 45

(4} Only ©and ¥
i5) None of thes:

135, Total number of Offlcers recruit-
&d by all the banks (ogether in
the year 2004 was approximate-
Yy whai percentage of the fotal
number of Clerks recruited by

[T
@83 * )iz
(5 102 55

I ~ Visit us as

bank B in the yan.r'z{IZIBn{!.:l _
2008 og P i

banks during six differont years
Vear A E_ c D | E
2004|422 | 16 (a8 22| 53| 3.8 56 | 7.7| 6.9
(2005 |52 | 2.7 | 9.8 | 4.6 | G.9 | H’“’?"ﬁ-" 5.8 | 4.8 "i'.'fi_i
06|33 | 09 | 49| 90| 641 46 | 85| 78 |99 79
(3007 |57 | 4.1 |68 BAa| 78| 8.7 [ 88] 6.3 |[11.5] 8.8 |
30E| a8 | 38 |698)] 6.7 | 5B | G4 |11.97] 9.8 |14.8 11.3 | |
50571 | 55 |80 51| 66 85 [10.6] 8 [15.9/107 ]
131, Inwhich bank the tofal samber Direstlons {136 = 140) : Siudy
of Officers and Clecks récrutted | the Tollowing Pie-char and the tabl
together bn the year 2008 is sec- | given beside € carelally W0 answer
ond highest 7 these questions,
(i) E 2 C Percentage wise Distribution of
(3B i A lecturors in 8ly Different Subjecis
= o in a Universty
| 183, Whai Fﬂ'ﬂh respective ratio Toial nomber of Leciorers ; 1H00
i betwern the total number of OF- Percentage of Lecturers
_.[Emm recruited by hﬂ‘lil't.'i: A :
D together i the year 2006 and
the number of Clerks recruited
b bank A In the year 2008 7
() 31 ;18
(7 ) g
{3) 18 :ss'.
% 18;
o E-innw!'thrsu
| 135, ‘what was the average number
“of Officers recruited by BankC -
guver all the vears 7 Ratlo Betweoen Mals and Female
(1) 3000 (2} 5.000 Leciurers in the University
@)00.006. (48,500 Lectwrers | Males| Females |
(B} Mone of theae | © :
| 'IMI:-l'nﬂIh:h bank the number of mm g ;
Clerks recruited continuously T et
increased duriag the year 2004 il -
to 2008 7 ' Tty | 1 7
i -Ehﬂ_'lj"ﬂill.ﬂdﬂ. PFhysles o ]
2] Only B Zodlogy 7 e
(3} Only B 138, Total number of lecturers (Both

miale s lemale] in Hindi s ap-

proximately what percent of the
intal number af lemale leclerers

in Mothematics and Chemistny

iogether 7

[1] S8 i2) 43
i3 47 4 51
5] 40

| 187. What |s the difference between
the total mumber of lecturers
ihdih male and female) In Zoolo
gy and the wotal number of miale
lecturers in Chemistry and Ed-
ucation together ¥

{1 192 (2} 18z




W= R =

(G Mone of thess

138, What I=-the difference between
e mamber - af female becturers:
in Zoolegy and the number of

mutfe lesturers. in Findi 7
(1) 156 (2] 160
f5F 130 4] 153

(5 Moneol these

What iz the total number of malk:

Iectarers im the university 7

(L) GG (Z] Fir2

3 712 (4) G&8

(2} Mone of thess

140. What s the respective ratio be-
tween the number of female lec-
turers in Physies and (he nom-
Ber of male lecturers In Mathe-

meatics ™
fa. g (22 :49
a7 Mi5:3

% Mone of these
Directions (141 = 1408 ; Stady
- the following graph and answer the
fueestices that follow,
Birmber of Matlonal and [nterma-
ttanal Mights (In hundreds) can-
celled in slx diferent years

M Mavons) Mighis
] Internaiional MHekis

=

14 4

--------------------

S

nnnnnnnnnnnnnnnnnnnnnn

Wumber of fights (in huadreds)
P

B .k & =]

-
=
=
= |

%

"]
=
=3
=]

@
=
=
= ]

=
=
o
B9
Tears

141. What |s the approximate aver-
age number of netional dights

cancelied over all the years. 7
(1) 780 (2} BT

(3] 828 (4} 824

(5) 785

142, Total number af international

flights cancelled [n the years

2006 and 2007 together |5 ap-

proximately what pereentage of
international ights cancelled in

the veara 2008, 2004 and 2008 |

togetiier 7

- pmp——w- -

lﬁlﬂﬂ 4) 9i
[l st}
TLAS, What (s ﬂ#dﬁﬁﬂmhﬁm

the total number of national
Aights and the total number of
intermational flights cancelled
over all the years 7
(1) 500 (2] 250
a3 o0 4] 450
(50 Mare of (hese
In which year s the total mum-
ber of fHghts (oth Natonal and
onid lowest 7
(1) 2003 (2] 200
(3 2006 (4} 2007
(5] Mone of these
What |5 the respective ratio be-
baveen the nurmber of intemation- |
al Mighis eancelled in the year
2007 afd the total number of
natlonal Nights :;n'n_rdll:ddn b
wvears 2004 and 2005 togeiher 7
(e 17 " EyerA
@ 1s:9a (3
(=) Meone of these
Directions (148 = 150) : Study
the following information carefully to
answer the gquestions thai follow

In g towrmamment. & tetal namber
of 400 plavers have participated in five
different apots, viz, badminton, hock-
ey, lawn tennis, cricket and baseball,
15 percent of the ‘total pliyers have
participated in Badminlon. Twe-filth
of the wial players have particlpated
in hockey, & percent of the total play-

E“ L

145,

ers hiase participated o lawn tannis., |

25 pereent of (he total players hayve

" | participated in cricket, Remaining

plagers have participated in basebail.
One-fourth of the hockey players are
females, 20 per cent of badminten
E&!,rgram male, Half the players whe
have parﬂﬂﬁtad in lawn tennis are
males, There are 45 female cricket
plavers, No female player has pﬁa‘l'lin
pated in baseball,
146, Number of female players par-
ticlpating in Badminton is ap-

(5] 86

What la the difvence bélween
the number of male players par-
tickpating in hockey and the rom-
ber of femals plavers participat-
Ing in Lawm ennis 7

147.

| —g - -m

———— = ————

2 I'JE 4] 108
8] More of these
m&-m tercertain réastn cricket
garne was: diopped and all Lhe
cricket players leff the touma-
ment, then what would be e
total number of male players in
the Larmametsl ?
{11 200 iZ 210
81 150 (4} 220
151 None of these
146, What ks the respective ratio be-
teneen the number of mals play-
ers participating in Badminlan
and the number of female play-
ers participating in hockey ?
(1] 11 (2} 3710
(3 611 ) 11:6
5] None of these
| 150 What is the total number of fe-
males players participating in the
tourmaent 7
(1) 120 {2 120
(3 145 {4) 155
d_Eii D:Fnzwﬂfﬂ}mu

"REASONING ABILITY |

181 Towmn © is towards the Saowth of
toary B and fowm A s toward the
North of town C. 10 which of the
foflowing directions i town A
with respect ta l.nwn B?

(I North ;
- [2) Seuth
{3y South-West
4] Cannod be dedermiinwd

(5] Weat

Howe many such palrs of letters
are there In the word MARGING,
ecach of which has as many hel-
ters betwncen them in the word
lin bath forward and backward
dirsctions] 44 they have belwesn
Lhem in the English alphabetical
serips T i

(1} Nome {2) Omne

(3 T (4 Thire:

(5} Maore than three

if it is possible to make anly one
meaninghol word with the thind,
fourth, elghthand the ninth let-
| iers of the ward "“CENTURIES'.
| which would be the second let-
| ter of the word from the left? If
| more than one swch word can
be formed, give 'A’ a8 the an-
swer, I no such word can be
formed, gve & AS your answer,
(1] A {2} N

(2F T & E

(S

1652

L3




LE4. The pasition of how many alpha-
beis will remaln unchanged i
earh of the alphabets in word
PRODUCTS & arranged inalpha-
betical erder from left to right 7
(1) Nowe 12) Qe
13 Two 4] Three
(5) Maore than three

188, Which af the following repre-
senis the correct relatinship as
indicated in the given figure 7
ﬂﬁnmrﬂymﬂnmnm—

@o

(1] Viegetables : Apples :
(Z) Gears : Tyres . Cars
¥ Cone : Cylinder : Sphere

HFhm Solnc system : Ol

Frulis

Hﬂﬂld Silver : Meial i
188. What should come next in the |
following letier series 7 |
ahcdnfﬁn:du;nduh
4 @
@d 4 g
(5} Hene of thrse
187, Four of the following five are
alike in & certaln way and hence:
Farmi & group. Which one does
mot belong to the group 7
(1) Paper 12} Weal
i3 Cotton (4) Wood
|5) Plastic
18R, "Solidiers” are related (o Aoy’ in
ﬂnmwu ‘Players’ are

related 1o
(1) Game |
(2) Tournament
() Sports ;
(4} Captain .
(5) Team
154, Fﬁmmnlnaplmmmlm |
ul:t'humﬂiﬂr*nunlychﬂdh
my [ather's only san™. Whose
mummw
(1] Broilwer's (2] His own b
3 Cousion's. (4} Falher's
(3] Nephew
m%ﬂwﬂlmmﬁmﬂmﬂﬂ-
' mfﬂmrkmﬂuhﬂmmgm
rles 7
BC EF L MO
(msr 2 TU
Euv 4 gr
I5] None of these |
Directions (161 -lﬂﬁlrﬁhld:.l'
the following informiation cacefully and

answer the given quesiiens.

In an iAermational meel, repre-
sentativen, A/B, C, D, E. F. G and H
from e{ght different countries viz. Thal-

Aand, Frances, Helland, Austra, LLS.,
Spaln, Indla and Germany [nod neces- |

sarily in the same order) sit arcund &
ﬂrﬂulnrtdﬁl&ﬁmgﬁeunlm.hwlm
represenis Germany sits third (o the
left of E. Theone who i& from India

- sits Lo the Immediate rght of A. D whe

is from Halland gits second te the right
of B. B s not an immediate aeighbour
of E. Cwha {s from Spain sits exactly

in the middle of people representing |
U.5. and India.G, the represemntative |

from France sits second to the left of

| Hwhois from Thailand. -

181 How many people sit between A
and representative from Austria
whien counted in clockwise di-
rection ?

(1] Noese
. B} Four. | ¢ oo

182, Which of the ﬁmuwmghmﬂ
regarding representative F?
i1} F is the represeniative of

Avistria

(2) Ome
{4} Three

12l F sits sccond to the left of
the representative fmorm Thal-
kil

i3 Representative from Cerma-

iy 4s not an tmmediate nelgh-
bour of F,

(4] Esits thind to the right &f F.
(B Mone ks tras

m In which of the following pairs |

is the representative from th
first country sitting to the imme-
diate el of the representatbe
from the second countrey F
{1} India - Thatland
(2) Austrla - U5,
(3] Thailand - Halland
14} Spain - Germseny
15) U5, - Spain
164. What s the poesition of B with
respert 1o the position of repre-
geptative from the U5, 7
(1} °Third to the left
(2] Fourthito the right
(3] Fourth to the left
i4] Second to the right
{5) Second to the left :
188, Which of the bllowing pairs rep-
resents: the immediate nelgh--

v hnun‘ﬂﬂnmmmm
‘Holland ¥+ -
(G [ﬁ]B-E
13 AH {4} HB
{8} GE

188, Thé representative of which of |
the following countrics i seatcd |
second 1o the beft af Indian reg- |

resenbatine ?
{IiThatland 21 US |
(3 France  “i4) Spain '

15] None of these .
167, The representative of which aof

the following countries aits ex-
actly tn the middle of the repre-
" sentatives Inoen Thalland and

Frn_ncl:-'?

I 1} Flolland (£} Austria
(3} Germany ~ '[4) LL5.
(5 Mone ol these

Direction (188 = L70) : Read the
following informution /statement cane. |
fully and answer the guesticns,
lﬂr?-"hll:h of the following expres

sions will be true o the given |

expresslon 'H = G > H £ F is

definitely true ¥ I

(I FzK L~ H=K
[ﬂhF-;G ; 4 K= H
(5i None of these ;

Tn which nfum_rmlmrl'n'g']um
sions will the cxpression ‘A<D’
be definitely trus 7

e

N R=PegeM
) R<Q=P=M
. A MeBsDaR
;? i ..--. i,:l».l—:lim In.cach
T
_Btatement: oanclu-

(lIAzB=C<D
{Ha>B=CzD
AR A<B=CxgD
HWA>B<C<D '
15} Mome of (hese
170 [nwhich ol the olkowing ropres-
slons docs the expression
FM=R does not hold Lruse 7

HuM=-Fsg>R —
JAM>P2Q=R

L&k.l: the thres g1w:r|. I-',ﬂ',l:mﬂrlli Lo Ty
true even il they seam 1o be al vari-
ance framearmmenky kevown facts and |
then decide which of the given con- |
cluslons logically Follosws fnomthe giv-
eni statements disregarding common-
Iv knasm Facls,

Glwe answer (1) if only comnciu.
sion | follows.

Give answer (2] i only conclu-
sion [T Taliows,

Give answer (3) If either con-

“clusbon For conclusion [ folloys.

Give answer (4) if neither con-
clusion | nor conciesion 11 follows:

Give answer (5] f hoth conclu-
nl:m [ and eonclusion 11 follow.




All typhoons are cyclones.
All winds are typhoons.
All donds are winds.
Conglusions ;

. All typhoons are clouds.
1. Al eleuds are eyelones.

Gtatements
Some [loppies ame kevboards,
l All keybonrds are speakers.
All speskers are manitors,
Conclusions |
I, Seane monilors are oppkes.
I Al keylroands ane monitons
I.TH-.ﬁtdmmﬂq:
Some keys are locks.
Some locks are doars.
All doare are windows,
Conclosions
I. Same keys are doors.
[1. Some windows are locks.
SratemEnLE
Al islands are counicies.
Al continents sre islands,
All planets are countri=s.
Conelusd o
[ Some continents are not
coum ries.
i1, Mo phamel is o oontineen.
175. Siatements :
All buses are SCOOLErS,
No acooter is & traln,
Conclusions:
[. Moibauss is a train.
[[. Some jeeps are scooters.
Directions (176 - 1B0) & I esichy
fuestion below 5 statement i ghven
Ealicrns] By Bard Couirees of aetion nurm-
bered 1 and 11, A course of nction (s a
practicable and feasible step or ad-
ministrative declsion tobe. t.n]mﬂ.l'gt

172,

I74.

action in regard to the prinbleﬂ:.. podi
E:,'Emﬂnthetumdaud'memﬁm
tlon given in the statement. vou have
1 sssierne evericLiing in the statement
to be true, and declde which of the
suggested courses bl action loglcally
fesllewfs) for pursuing.

Clwe answer (1) iFanby | folloos.

Glve answer (2] i only 1 folkones.

Gilwve: answer (3] if eltber 1 or 11
Feal Terwwess,
| Glwe answer [4) Il nelther | nor
[ I follgus.

Give ansgwer [5) if both 1 and 11
follona,

[ |

follow-up, improvemesnt, or forther |

BRSO CWOE Wy TR

dﬂ.ﬁﬂ:ﬂn&mbhrd‘rhhmlﬁﬂuﬁl

by rs was much more i

th:”f:.n'i:r:r of rhinos killed by

pﬂﬂﬂ'ﬂmﬂiﬂtﬂﬁ'ﬂmﬂﬂuﬂl’}
; Emufil‘.'ﬁm.t

1. Ehidﬁfeglﬂlﬂmﬂlwuklba
framerd in order to punish the
poachers,
As done in some sAnctboar-
fes ihe freas where tleers
buand and the areas with dom-
tnzmnt rhino population skl

beartificially separated.

Il

177

A

""Ha['ﬁr-feﬂ- he alrerafis
: nH thl: #:r Irﬂ:ennn'nllara- kn-
| )

Courses uf-'mﬂl:n:

I. Pilots ol both of the aircralis
should be tmmediately repri-
manded by reveking thetr -
b rimiay
The tralning of atr traffic oon-
troliers should be improved
anrd made more compreben-
aive In order to avoid such
incidbenis in future.

178. Statement : Oil spill frem the
ail carrler of one of the biggest
ofl comparies has severely al-
fected the marine 1ife o @ largs
manw-thl:gldlrl:_gm
.m ﬁtlﬂ‘ﬂﬂ T
1. The all company should be

penalised for the negligence

ard the borm caused to the
ervviranment.

Effoits shodild be made to

shiill 28 many markne antmals

In the area as possible tosafl-

______ er hahitats,

179, B’t.iﬁ'mnnt & h’[an;.r: prhral:-t

haols have been reportédly

denying admisskon (o students

;ﬁuﬁ:pwrmmume prel'er—

Hﬂ:ﬁihmeﬂﬂtwun&fhﬂuélsl

Ay avolded when pi-
nieglect-

i1

1.

background regardless. of their |
merit,

" Courses of action : g
I.. Poorstudents should been-

cauraged 1o take admissions

only in Government run
ﬂmh whers such disarim-
ination does not exist.
The government should en-
foree a cerfain percentage of
seats for students (rom poor
[amities in every school.

i1.

Etllnnﬂt A mid: adreodlisian |

T w:ué: has been rising sig-
II.IE'EE In the clty since the
last few months.
I;!nu.rlu.ufm:tl.qn_
I, The municipal ﬂumﬂﬁ“ﬂ'ﬂ-
sheld take immediate sieps
Lo d.em:r-:g ‘the breeding plac-
es Of masguitoes and im-
prove hyglene in the area
Il. A campaign to educate peo-
ple abotil {fe Ways Lo prevent
the disease should be stard
ed using local media and so-
cial workers.
munﬂnn:[l‘llmlﬂﬁl in Each
question heldiv 15 given & statement
f:,ﬂluwad by two .aﬂaump{lana Tk
“bered Tand 1. An assurmption (s some- |
thing supposed o taken for granted. |
Yieny B (o eorisider the stgterment and
the fodiowwing assumptons and decidez
which of the Emu-umpﬂﬂfl‘ & beragpbiest
in the statement. ”
ﬂiﬁmﬂ'ﬂi Iefcnll.lj‘ﬁﬂﬂ'hr'np
ton 1 is inpilcil. ;
Cive answer [2) if only Assump
tion 11 ks implicit
Give anwwer (3] Il either As-

| sumption [ or Assumption 11 is imphic-

i

Give answsr (4) If neither As-
sumipiion I nor Asstmption U s im-
plice,

GHve answer [B] i Both Assomp-
toria Fand [T are implicit, '
181, Statement s A ledding untversi-
Tty has beglm A jractics af dis-

| plaving results only on the in- |

termel rather than the main no- |
tice hoards.

Assumptions: |

I Al the staden s epmolled vwith
the university havie access to
internet at home,

Maosd of the students refermed
ta r..hz resiilta dlapla_','l:d (375
‘both the internet as well as
. the notice haards eardier.
182 Statbment : ['I.Iprd.g-r Loy replen-

ish thic mutrients in the soil. it is

imfporiant te grow different
types of crops every altermate

Assumpticons :

I. A crop can never be grown
for the second time in the
.Hm-: Field.

I a different crop Is growrn !
in the sUCCEssive SERSOM, IO
additlonal nuirdenis such as
fertilizers are reguired (o be

Calefekes] 1o the soil,

10 Wesd




183. Statement : If farmers want (o

fmprove thelr yield, they musi

use arganic ferfilizers in place of

“chemical fertilizers.

Assurmptions :

I. Chemical lerfilizers have cer-
tain ill eflects on health.

1. Chemical feriilizers do net
produce as mech yield as the
arganic fertilizess.

184, Statements : Store catables in
the deep freeze In order to pre-
serve these for a long time.
Assumptions
[. Food malerial remains eat-

able even afier deep freezing

for a long time.

It is not possible to store any

eatable A1 voam teatperature

even for & shorter perfod of
time. |

Statements ; A leading NGO

decided to open a library con-

Laining books and newspapers

of all majer publishers in a re-

micte village,

Assumptions :

1. All other nearby villages al-

reacdy have simikar Whraries,

1l. There is adequaie number of

Hicrate people inthe village.
Directions (186-188) : Below in

esch (uEsTion ane ghen Uwo slatements
Al and (Bl These statements may be
elther iIndependent canses or may be
effecis ol indepeadenl causes or a
common cause. One of theae siaie-
ments may be the effect of the other
slatement. Read both the stalements
and decide which of the follgwing an-
swer cholce correctly depicts the re-
lationship between these two staie-
mends.

Mark answer (1] if statement (4)
is the cause and statement (B is its
eI Teed.

Mark answer [2] if stanement (B
ks the capse and statemend (4) s it
=it

Mark answer [3) if both the
sLatements (Al and [B) are independent
cRuSEs. _

Mark answer (4] i both the
statemends (Al and (B8] are effects of
independent causes.,

Mark answer [3] Il boih the
statements (A} and (Bl are cffects of
SOTTLE COTIFTICN. CRL e
186. (&) The governinent has decid-

: ed to talke siriet actlon
against the bullder responst-
ble for construction of the

bridge for having used low |

* cpuality matertal thereby risk-
ing several lives.

(B} The government has decid-
ed to build & vehicular bridge

~owver ihe river conmecting the
suburban area to the city in
order to reduce. the iraflic
Ioad on the miain roacd,

187. (A Many people prefer Lo shop
il the Big retall chains than
the local grocery storis.

B} Retail chadns offer a discount
af more than 25% a8 com-
pared to the local grocery
shaps.

188, |A) More ithan two billion pounds
of chemicals are spewed in

ithe alr everyday by indusiries
and vehicles of some coun-

Directions {168-190) : Study the |
following information carefully and |

answer the given questions.

A wiord and number arrangement
machine when ghven an Input line of
woids and nimbers, rearrangss them

following & partbcular e in fach step.

The follewing 5 an ilustraton of in-

put and rearrangement.

Inpui @ Spark B2 27 Usa 46 Beai
Omni 73

Stepl : 73 Spark 82 27 Uva 46
Beat Cimmnld

abdne steps, find oul In cach ol the

stop for the given Inpul

Stepll | 73727 Spark 82 Uva w}
Beat Omnl

Steplll 73 87 B2 Spark Uwa 46 |
Beatk Ormnl

SteplV 1 73 7 B2 40 Spark Uwa
Bead Oromnd

StepV o TIET B2 40 Canni Spark |
Lhva Beat

StepVT ¢ T3 27 82 46 Omni E..um I
Sparlk Beat

Step VIl T3 27 82 46 Omni Uva |
Beal Spark !
Stepn W is the last step ol |
the armangement.

AR pir Lhe rules ollowed in the
followding questions the appropriats

184, Eul 1 Oat 19 Eat 83 GG Cat 54
How many steps will be requdred
1o e plete the rearran@emenl P
(1) Thires 21 Four
2} Five 21 Sk
(5} Mone of these
180, Input : Boat 24 lnk 21 42 Wind |
Air 75
Which of the following will be
step VIl of the aliove fngnat ?
{1} 78 21 42 Boat 54 ink Wind
Alr
{21 75 21 42 Boal 34 Ink Wind
31 TE 42 34 21 Air Boat Ink
Wi
4l There will be no such step
as it gels arranged belors
slep VI
I3l None of thess

mslul-m,mﬂd: nl'llmqumi:lﬂlmgjven bedow which one
af the hﬂmﬂn;mw figures on the right should come ‘after the problem
figures on the lefi, if the sequence wers conlinued 7

Problam Figures mnﬂﬂ'ﬂ
] Lﬂ#ﬁ ﬂ D
181, :}11 ra
gz '.!‘ I
102 [ 3 = 1 |ME.‘ 3 .
oS 8 30 e O3 00w VW T l!l"ﬂﬂ'-f: .- &
A o T a ¥ < |C L7 | =
& z & i £ ] L& : : e oL
. T T
- ¥ P F i
192, P Fo il " » | %
AT L[| [ FLA T | A<
T o - I ]
2 LIRS - L R TV R ¢
184, 3 Ells EE G *_u;—; 8 4 Fl 2P| ¢ PIf 'P-i
B il P o i - oA | il & " i
i) (NELY) 4 2 L | FRLA < By OO A
Y
108, | . ;
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